[N,/ An deltag U

Ratio to ATLAS

13000 GeV pp

_Underlying Even

— | — T T T ' T ' 1 | |_
45— M
B lead _

- <Ny> Vs P (n| <2.5,p > 0.5 GeV, p_>1GeV) n
41— m ATLAS =
— --3-- Herwig 7.2.1 default -

3.5 [ —&— Pythia 8.308 default =
3 =
2.5 — =
2 :— _:
1.5 :— _:
1 :— _:
0.5 :— _:
N L I | | | | I I | | | L L |:
— I I I ' [ ' I T T [ T 1 t |:

2 & =
- W‘mﬂﬂmﬁff‘ﬂ,i\‘/l—/_‘*é _

1 — I\WE}E-E}-E—EE}-—E—---Q___E} _______ ——— ]
05 — _|

1 L L
0 10 20 30

p'Tead [GeV]

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


